Skilgreiningar
Sinus: sin(v)

cos( )_aélwg hlid
") Tanghlid

Umskriftarreglur
sin(—v) = —sin(v)
sin(v+TT) = —sin(v)
sin(Te-v) = sin(v)
sin(v+TU2) = cos(V)
sin(v—Tv2) = —cos(V)
sin(TV2—v) = cos(V)

Hornafraodi

Cosinus: cos(v)

sin(v)= motlaeg hlid

") Tanghlid

cos(—v) = cos(V)
cos(v+Tr) = —cos(Vv)
cos(Tev) = —cos(V)
cos(v+Tr2) = —sin(v)
cos(v—Tr2) = sin(v)
cos(Tv2—v) = sin(v)

Tangens: tan(v)

Cotangens: cot(v)

(v):métlaeg hlio _sin (v) 1
adleg hlid  cos(v)

tan(—v) = —tan(v)
tan(v+T17) = tan(v)
tan(Tev) = —tan(v)
tan(v+172) = —cot(v)
tan(v—Tv2) = —cot(v)
tan(TV2—v) = cot(v)

cot(v)

cot(—v) = —cot(v)
cot(v+Tr) = cot(Vv)
cot(TE-v) = —cot(v)
cot(v+Tr2) = —tan(v)
cot(v—Tr2) = —tan(v)
cot(TV2—v) = tan(v)

+1

cos(v):m

sin”(v )+cos’(v)=1
cos?(v
Tvofalt horn
sin(2v)=2sin(v)-cos(v)
cos(2v)=cos’(v)—sin’(v) cos(2v)=
2tan (v) 5

tan (2v )=————— cos’(v)=

(2v) 1—tan*(v) (v)
Summuformulur

sin(u+v )=sin (u)cos (v )+cos(u)sin(v),
cos(u+v)=cos(u)cos(v)—sin(u)sin(v),
tan (u)+tan(v)
1—tan(u)tan(v)’

tan(u+v)=

Liounarformulur
sin(u)cos(v)=),(sin(u+v)+sin (u—v))

cos(u)cos(v)=%(cos(u+v)+cos(u—v))

battunarformulur
. . ST s—1

sin(s)+sin (¢)=2sin 5| cos| 5— )
sin(s)—sin(7)=2cos| L |-sin Sz;t)
Kosinusreglan

a’=b"+c - 2bc-cos(A4)

Lausn a hornafallajofnu

sin(v)=k cos(v)=k

sin~' (k)+360-h
180 —sin ' (k )+360-h

=1+tan2(v)

1+cos(2v)

—Ccos

gin(v)=_2t@n(v)
) Vi+tan?(v)

=1+cot2(v)

sin?(v)

2cos’(v)—1 cos(2v)=1-2sin’(v)
_1—cos(2v)

L2
sin*(v) >

2

sin(u—v)=sin(u)cos(v)—cos(u)sin(v)

cos(u—v)=cos(u)cos(v)+sin(u)sin(v),

tan (u—v _tan(u)—tan(v)
1+tan(u)tan(v)

sin(u)sin(v)=— %(cos(u+v)—005(u—"))

s+

cos (s )+cos(z)=2cos 5

2

S—t
2

-sin

cos (s )—cos(t)=—2sin

Sinusreglan
a b c

sin(4) sin(B) sin(C) =R

tan (v)=k

cos ' (k)+360-h

— -1



(Gildi hornafalla

Horn v sin(v) | cos(v) | tan(v) | cot(v) | sec(v) | cso(v)
Gradur |  Rad.
0° 0 0 0 X 1 X
30° % % V3 / J% V3 ’ 73 2
45° % “22 / 1 1 V2 V2
90° A 1 0 X 0 X 1
120° 2% ¢32 y _f —63 ) 2@
1350 3, ﬁz _f/ 1 1 —\2 V2
150° 5% % _(/ _% —V3 _7@ 2
180° a4 0 0 X -1 X
225° 5% —\/54 —\/54 1 1 —\2 —\2
240° 4% —% —% A J% -, —7@
270° 3 -1 0 X 0 X -1
300° 5% _% % _J3 V3 . 2 _%3
315° 7% _% \/54 1 -1 J2 D)
330° 11% —% %32 _% A 2/@ )

360°(=0°) | 27 0 1 0 X 1 X

X: EKKi til gildi af horafallinu sec(v) COSI(V) cse (V)=

V2=1,4142

V3=1,7321




